Annex No.1 
Technical Specification

Contents

11.
Application description


22.
Installation


23.
Instructions / Requirements


24.
Spare Parts


25.
Commissioning


36.
Wellhead Layout Criteria


37.
Documentation


38.
Purchased parts package


39.
Delivery- und Purchased Parts Package


310.
Additional Requirements


3Annex A:


3Delivery- und Purchased Parts Package


1. 
Application description

Annex A outlines the technical wellhead specification.
Volume estimation:

a) 13 pcs of wellheads in total incl. 8 pcs casing head of 3.000 psi (20,7 MPa) specification in Annex A of this Technical specification 
b) 6 pcs of wellheads in total incl. 4 pcs  casing head of 2.000 psi (13,8 MPa) specification in Annex A of this Technical specification
2. Installation

Wellhead operating is subject to standard summer / winter temperature variations. 
Call off for service will be done per e-mail not later than 10 working days before installation.
The contracting entity reserves the right to be present at installation or appoint third party in behalf. 

RWE accepts if the installation will be provided by the subcontractor (third party) of the supplier (the subcontractor must be specified in the bid. 
3. Instructions / Requirements

Material class: 

AA
Temperature Rating: 

P (-29°C/+82°C )

Material Qualification Testing: 
PSL 1 
Performace rating : 

PR 1
Pressure Rating:

API 3000 psi (20,7 MPa) 


and 2000 psi (13,8 MPa)
Application 

general sweet gas (methane) where little corrosion is anticipated

API gaskets with hardness max 90 HB, chrome plated

Bolts and studs material ASTM – A193, grade B-7

Nuts material ASTM – A194, grade 2H, chrome plated

Al pressure gauges in MPa Ø100 mm (no smaller)

All holes will be plugged by plastic protectors and must ensure waterprotection from rust on inside parts.
Painting – (painting has to start at least 4 hours after sandblasting)
· Sandblast according ISO 8501-1, SA 2,5
· Eliminate dust after sandblast 
· Primer Hempadur 17340, 100 µm – hue 19830 or Amerlock 400 Al, 80 µm
All valves and accessories must be metal to metal sealing and a gas leakage test has to be carried out according to CSN EN ISO 10423 – PSL 1
In addition:

1. It needs to be ensured, that the individual parts have enough leeway (place) for a hydraulic device to make up connections. 
2. All stud-bolts and  stud screws consist of ASTMA 193, quality B7, with nuts out of ASTM-A 194, quality 2H, zinc-plated or of similar quality. Stud bolts with 2 nuts each, stud screws with one nut each. The length of the stud-bolts is to be adjusted according to the R-seal. All threads must carry full weight. All frame components and shut-off valves are to be marked with a serial number.
3. Acceptance test certificates according to EN10204/3.1 have to be included for all positions

4. All API o-rings, quality D, angular, zinc-plated, or off similar quality have to be furnished with a plastic coating for protection during transport. The material quality of the API o-rings has to equal the material quality of the flange connections in order to prevent corrosion at the o-rings later on.

5. The seals have to be fit for gas up to a max. pressure of 20.7 MPa amd 13,8 MPa  during gas-fuelled operations for above mentioned dimension in Art. 1..

4. Spare Parts

A spare part list and documentation has to be handed over to RWE Gas Storage after the contract has been awarded. Spare part list include Producer of these spare parts has to be delivered with the Goods. 
5. Commissioning

The storage well heads shall be delivered with maximum pre assembling grade possible. After installation the hanger seals need to be pressure tested by the Supplier. 

6. Wellhead Layout Criteria

The wellheads shall meet CSN EN ISO 10423: 2003 (API 6A) “Wellhead and Christmas Tree Equipment“, last version, pressure rating is API 3000 psi (20,7 MPa) and 2000 psi (13,8 MPa). All commonly accepted technical standards and rules are applicable.

7. Documentation

The following wellhead documentation has to be delivered in Czech or English language together in one delivery with the goods:
· All Wellhead and parts drawings with dimensions and cross sections with ID and OD, parts lists, 4 hard copies and electronic copy on CD/DVD and a supplementary AutoCAD drawings in scale 1:10
· All pressure testing, material testing and other inspection documents, according EN 10204 3.1
· Operation and running instructions, 4 copies and in pdf file on CD/DVD.

· Spare parts list, 4 copies and in pdf file on CD/DVD.

8. Purchased parts package

The purchased parts package consists of:

· Dimensioning and technical processing of the wellhead

· Description of the wellhead

· Delivery of wellheads

· Painting of well heads – as is required in point 3. this technical specification 

· Documentation 
Assembling and installation of the wellhead shall be done according to torque presetting of the manufacturer by the Supplier. Installation shall be supervised by Supplier personnel on location. Supplier shall pressure test the hanger seals and flange connections after installation.
9. Delivery- und Purchased Parts Package 

The delivery and purchased parts package specified in Annex A reflects the current status. If during the tender process other or additional equipment is needed, these parts need to be added supplementary and costs need to be included in the offer. 
10. Additional Requirements

1. Sections pre assembled by section incl. hydrostatic pressure tests  (recorded)
2. Drift test 
Both 1. and 2. Shall be done at Suppliers site.
Annex A
	Item
	a, Wellhead 3000 psi
	Total
	2015
	2016
	2017

	
	
	
	Required quantity*

	1.
	Casing head 13 5/8" – 20,7MPa - slips 9 5/8", bottom connection for casing  with welded casing stub  13 3/8" (total length approx. 2 m), side flange connections 2 1/16"  - 20,7 MPa
On the right side: gate valve 2 1/16" with threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa

On the left side: threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa
	2
	1
	1
	

	2.
	Casing spool 11" x 13 5/8" – 20,7 MPa with secondary seal for casing  9 5/8" and slips 7”, 2x gate valves 2 1/16" – 20,7 MPa  (both side needle valve and pressure gauge)
	1
	
	1
	

	3.
	Casing spool 11" x 13 5/8" – 20,7 MPa with secondary seal for casing  9 5/8" and slips 6 5/8”, 2x gate valves 2 1/16" – 20,7 MPa  (both side needle valve and pressure gauge)
	1
	1
	
	

	4.
	Casing head 11" – 20,7MPa - slips 5 ½”, bottom connection for casing with welded casing stub  9 5/8” (total length approx. 2 m), side flange connections 2 1/16"  - 20,7MPa
On the right side: gate valve 2 1/16" with threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa

On the left side: threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa
	2
	
	1
	1

	5.
	Casing head 11" – 20,7MPa - slips 6 5/8”, bottom connection for casing with welded casing stub  9 5/8” (total length approx. 2 m), side flange connections 2 1/16"  - 20,7MPa
On the right side: gate valve 2 1/16" with threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa

On the left side: threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa
	1
	
	
	1

	6.
	Casing head 11" – 20,7MPa - slips 5 1/2”, bottom connection for casing with welded casing stub  11 3/4” (total length approx. 2 m), side flange connections  2 1/16"  - 20,7MPa
On the right side: gate valve 2 1/16" with threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa

On the left side: threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa
	2
	
	1
	1

	7.
	Casing head 11" – 20,7MPa - slips 5 1/2”, bottom connection for casing with welded casing stub  13 3/8” (total length approx. 2 m), side flange connections 2 1/16"  - 20,7MPa
On the right side: gate valve 2 1/16" with threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa

On the left side: threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 20,7 MPa
	1
	
	
	1

	8.
	Tubing spool 7 1/16" x 11" – 20,7 MPa with secondary seal for casing 7"(with alternative for 6 5/8”, 5 ½”), 2x gate valves 2 1/16" – 20,7 MPa  (both side needle valve and pressure gauge)
	3
	
	3
	

	9.
	Tubing spool 7 1/16” x 11” – 20,7 MPa with secondary seal for casing 6 5/8” "(with alternative for 7”, 5 ½”), 2x gate valves 2 1/16” – 20,7 Mpa  (both side needle valve and pressure gauge)
	4
	2
	
	2

	10. 
	Tubing spool 7 1/16” x 11” – 20,7 MPa with secondary seal for casing 5 1/2” "(with alternative for 6 5/8”, 7”), 2x gate valves 2 1/16” – 20,7 Mpa  (both side needle valve and pressure gauge)
	6
	
	2
	4

	11.
	Tubing hanger, bottom connection box 3,500" 9,2 lb/ft VAGT, upper connection box  3,500" EU API 8RD, adapted for installation of control line ¼” for control TRSCSSSV without interruption, tubing hunger with thread for test plug  
	13
	2
	5
	6

	12.
	Tubing bonnet 3 1/8 x 7 1/16" -20,7 MPa with sealing for tubing hanger and port for control line 1/4" and with needle valve 1/2" NPT , adapted for installation of control line ¼” for control TRSCSSSV without interruption
	13
	2
	5
	6

	13.
	X-mass tree 3 1/8"x 3 1/8” – 20,7 MPa, 4 x gate valves (1x master valve, 1x crown valve and 2x wing valves) cube 3 1/8" x 3 1/8" with hole 1/2" NPT for methanol injection,
Left wing valve c/w welded neck flange 3 1/8" 20,7 MPa  
Right wing valve with threaded flange, c/w threaded plug needle valve and pressure gauge
	8
	2
	2
	4

	14.
	X-mass tree 3 1/8"x  2 1/16” – 20,7 MPa, 4 x gate valves (1x master valve, 1x crown valve and 2x wing valves) cube 3 1/8" x 2 1/16",  2x wing valves with threaded flange, c/w threaded plug needle valve and pressure gauge 
	5
	
	3
	2

	15.
	Accessories - installation pack
	13
	2
	5
	6

	Item
	b, Wellhead 2000 psi 
	pcs
	
	
	

	1.
	Casing head 11" – 13,8 MPa - slips 6 5/8”, bottom connection for casing with welded casing stub  9 5/8" (total length approx. 2 m), side flange connections 2 1/16"  - 13,8MPa
On the right side: gate valve 2 1/16" with threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 13,8 MPa

On the left side: threaded flange with 2” LP thread, c/w threaded plug needle valve and pressure gauge 13,8MPa
	4
	2
	1
	1

	2.
	Tubing spool 7 1/16" x 11" – 13,8 MPa with secondary seal for casing 6 5/8" (with alternative for 7”), 2x gate valves 2 1/16" - 13,8 MPa  (both side needle valve and pressure gauge)
	4
	2
	1
	1

	3.
	Tubing spool 7 1/16" x 11" – 13,8 MPa with secondary seal for casing 7" (with alternative for 6 5/8”), 2x gate valves 2 1/16" - 13,8 MPa  (both side needle valve and pressure gauge)
	2
	
	2
	

	4.
	Tubing hanger, bottom connection box 3,500" 9,20 lb/ft VAGT, upper connection box 3,500" EU API 8RD, adapted for installation of control line ¼” for control TRSCSSSV without interruption, tubing hunger with thread for test plug  
	6
	2
	3
	1

	5.
	Tubing bonnet 3 1/8 x 7 1/16" - 13,8 MPa with sealing for tubing hanger and port for control line 1/4" and with needle valve 1/2" NPT, adapted for installation of control line ¼” for control TRSCSSSV without interruption
	6
	2
	3
	1

	6.
	X-mass tree 3 1/8"x 3 1/8” - 13,8 Mpa, 5 x gate valves (2x master valve, 1x crown valve and 2x wing valves) cube 3 1/8" x 3 1/8" , 
Left wing valve c/w welded neck flange 3 1/8" 13,8MPa
Right wing valve with threaded flange, c/w threaded plug needle valve and pressure gauge
	6
	2
	3
	1

	7.
	Accessories - installation pack
	6
	2
	3
	1


* Contracting Entity reserves the right to reduce or increase the volume of delivered/ordered goods or services within range of 30 % under unchanged conditions.
